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 qeqJAp²¾¾  
 (\¥Op^r EdXp) 
SCIENCE  

(Punjabi Version) 

: 2 : 40
Time allowed : 2 hours Maximum Marks : 40 

 qHc\p HcHy Op£M Hc de} qH qBg \of²¾ \§Wc qeM N\y h}By 8 \¥²y¾ h²¾ & 
 \of²¾ \§Wc qeM g§Oy h§X Yy ed qY§Wy JBy \of²¾ \§Wc H}T ²¥¾v \orqIApcXr E¨Wc 
\tgqWHp Yy t̀§I \¥²y¾ E\c qdIV & 

 qHc\p HcHy Op£M Hc de} qH qBg \of²¾ \§Wc qeM 15 \of²¾ h²¾ & 
 qHc\p HcHy \of²¾ Yp E¨Wc qdIVp ftcv Hc²¾ W~ \qhdp£, E¨Wc \tgqWHp qeM \of²¾ 

Yp n`p£H (grqcAd ²¥¾^c) kcvc qd§I} & 
 qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr 15 q`¥R Yp g`p£ qY§Wp qJAp h± & \of²¾ \§Wc 
geycy 10.15 eOy e¥Ty OpVJy & 10.15 eOy W~ 10.30 eOy WH \orqIApcXr Hyed 
\of²¾ \§Wc ²¥¾v \mª²¾Jy AWy qBg g ỳ qeM Eh E¨Wc \tgqWHp qeM H}Br E¨Wc 
²¾hs qdIVJy & 

 Please check that this question paper contains 8 printed pages. 
 Q.P. Code given on the right hand side of the question paper should be 

written on the title page of the answer-book by the candidate. 
 Please check that this question paper contains 15 questions. 
 Please write down the serial number of the question in the  

answer-book before attempting it. 
 15 minute time has been allotted to read this question paper. The question 

paper  will  be  distributed  at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on 
the answer-book during this period. 
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:

  : 

(i) 15 

(ii) 

(iii)   1 7 
2 

(iv)   8 13 

3 

(v)   14 15 

4 

(vi)

I¥T H 

1. (a) qTg\}gy^d Hg¡cy (Htdm  q`§Rr Yy _p£Ty) AWy qTg\}gŷ d HpJk Yy 
H§\p£ Y}hp£ Yr ecW~ \dpgqRH Yy qTg\}gy^d H\p£ Yy qeHd\ Yy cv\ 
qeM HrWr Op chr h± & qB²¾ªp£ Y}hp£ qeM~ qHgy \dpgqRH Yy H\p£ Yy 
q^hWc qeHd\ Yy cv\ qeM `¥q²¾Ap Op gHYp h± AWy qHE¤ ? 2 

Op£ 

 (b) O±e ApecZ²¾ (qefpdrHc²¾) cphs `²¾®Ip£ E\c g_²¾p£ W~ eZycy `pmp 
\o_pe \± qchp h± & qBgYp Hpc²¾ qdI} & IpY \YpcXp£ (³§dp£ AWy 
g^OrAp£) Yr gpZpcV ZtdpBr ²¾pd O±e ApecZ²¾ Yy \o_pe ²¥¾v KR qHE¤ 
²¾hs HrWp Op gHYp h± ? 2 

2. hyS¾ qdqIAp£ Yr qBdyRop²¾-q ¥̂Yv g¥cM²¾p qIM} : 2 

(a) gpqBHd}hyHgy²¾ 

(b) q^FRy²¾ 
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3. `zTydr³ cphs Ap\Vr ApecW gpcVr qWApc Hc²¾ Yy dBr A\VpBy JBy 
`p\Y¥Tp£ Yp ecV²¾ Hc} & `zTydr³ Yr ApecW gpcVr AWy ApZtq²¾H ApecW 
gpcVr qeM W§Wp£ Yy g`-gXp²¾Hp (ApqBg}R}\g) Yr gqXWr Yr Wtd²¾p Hc} & 2 

4. (a) qBH q^Odr Yr hrRc qOgYy A²¾®̀ Wp£H 1100 W h± 220 V Wy H¥̀  HcYp 
h± & \Wp Hc} (i) hrRc (Wp\H) Yp \oqWc}Z, AWy (ii) hrRc (Wp\H) 
cphs ecW~ qeM qdAp£Yr JBr Hc¥R (q^Odr Zpcp) & 2 

Op£ 

 (b) hyS¾ qYWy JBy q^Od gcHR Yp Wtd \oqWc}Z \Wp Hc} : 2 

 

5. `²¾®Ir O²¾g¥qIAp Yy gpqBk ²¥¾v Hp v̂ qeM cIV Yy dBr qHgy Y} Jc_ q²¾c}ZH 

qeZrAp£ Yy gtPpA qYG AWy E²¾ªp£ Yr qeApqIAp Hc} & 2 

6. (a) `zTd ²y¾ gXvd cv\ qeM YyIV epdy Y} qeHd\r d§NVp epdy `Rc Yy 

\}qZAp£ qeM Y}JdpHc²¾ HcepV Wy qBh YyqIAp qH F1 g¥Wp²¾ qeM 

\op\W \}qZAp£ qeM H}Br er AZqeMpdy dNVp£ epdp \}Zp ²¾hs h± & 

`zTd Yy qBg q²¾crIV Yy Hpc²¾p£ Yr qeApqIAp Hc} & 2 

Op£ 

 (b) qBg HX²¾ Yr \tfRr Hc} qH ^§My Yp qd¥J q²¾cZpcV qBg gMpBr Wy 
AZpcW h± qH Eh Ap\Vy q\Wp W~ e¥fpJW Hr \op\W HcYp h±  & 2 
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7. `²¾®Ir `pYp Yy \oOV²¾ W¥Wc Yy Eg _pJ/A¥J Yp ²¾p` qdI}  2 

(a) qOXy Jc_ZpcV ²¥¾v c}HV Yy dBr dv\ Op£ Hp\c-T Ohr Jc_c}Zr OtJWp£ 

²¥¾v dJpqBAp Op£Yp h± & 

(b) qOXy atJ`H (A¥T) Yy gXp²¥¾WcV ²¥¾v c}HV Yy dBr c}H dJpBr Op£Yr  

h± &  

(c) qOXy atJ`H (A¥T) Yp hqcW H}qfHpep£ Yy cv\ qeM q²¾c`pV ht¥Yp h± & 

(d) qOXy _cvV Ap\Vr `pWp Yy dhv qeM~ \}fV \op\W HcYp h± & 

I¥T I 

8.  `²¾®I cphs ^VpqBAp qJAp \qcApecVH \ô ¥Z qHg ²¥¾v Hqh¥Yy h²¾ ? qBH 

EYphcV qYG & Hr H}Br `²¾®I cphs ^VpqBAp \qcApec²¾H \ô ¥Z ge±-\}qfW 

\qcW¥Wc ^V gHYp h± ? Ap\Vy E¨Wc Yr Hpc²¾ gqhW \tfRr Hc} & 3 

9. (a) Hpc²¾ Yg} qH, AOyhp qHE¤ h± qH 

(i) Hpc^²¾ Yy a¡qJHp£ Yy Jd²¾p£H AWy E^dV-A¥H N}Ry ht¥Yy h²¾ & 

(ii) Hpc^²¾ Yy a¡qJH q^Odr Yp Mpd²¾ ²¾hs HcYy h²¾ & 

(iii) Hpc^²¾ Hyed ghg¥O}Jr a¡qJH ^Vp gHYp h± & 3 

Op£ 

 (b) g`OpWr fcyVr qHg ²¥¾v Hqh¥Yy h²¾ ? qHgy g`OpWr fcyVr Yy Y} n`pJW 

`|^cp£ Yy AVqeH Yce`p²¾p£ Yy Ycq`Ap²¾ A¥Wc \Wp Hc} & ecV²¾ Hc} 

qH Hpc^²¾ Yy a¡qJHp£ Yr qHgy g`OpWr gocyVr qeM AVqeH Yce`p²¾ 

qeM epZp h}V Wy hyS¾ qdIy JtVZc`p£ qeM qHez ^Ydpe ht¥Yp h± : 3 

(i) Jd²¾p£H AWy E^dV-A¥H 

(ii) cgpqBqVH JtV 
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10.  hyS¾ qYWr JBr gpcVr qeM HtP W§Wp£ ²¥¾v qHgy Ipg \±RcV qeM qeegqXW HrWp 
qJAp h± : 

sa 
(do) 

re 
(re) 

ga 
(mi) 

ma 
(fa) 

pa 
(so) 

da 
(la) 

ni 
(ti) 

H Li Be B C N O 

F Na Mg Al Si P S 

Cl K Ca Cr Ti Mn Fe 

Co AWy Ni Cu Zn Y In As Se 

Br Rb Sr Ce AWy La Zr   

Eg ApecW q²¾a` ²¥¾v \NpV} qOg ²¾pd qBh gpcVr Yp g¥̂ ¥Z h± & E\c}HW 
ApecW q²¾a` YrAp£ Y} \o`tI qefyfWpep£ AWy Y} ŷWcWr^rAp£ Yr gvMr  
^VpG & 3 

11. \qc²¾pqdHp (g}dy²}¾qBT) qHg ²¥¾v Hqh¥Yy h²¾ ? qHgy qBH Hc¥R ephH 
\qc²¾pqdHp£ Yy Mpc} \pgy YrAp£ Mt¥̂ Hr IyWc Yr Mt¥^Hr IyWc cyIpep£ Yp \±Rc²¾ 
qI§M} & qBg \±Rc²¾ E\c Eg IyWc ²¥¾v A¥qHW Hc} qOXy Mt¥^Hr IyWc qBHgpc  
h± &  3 

12. (a) hyS¾ qYWy JBy qMWc qeM Ht¥Tdr  1 dmr qeM qBH ±̂Rcr AWy \dJ 
Ht¥Or ²¾pd Otmy h²¾ OYqH Ht¥Tdr  2 qBH J}dey²}¾`rRc Yy ²¾pd O}qmAp  
h± & 

  Ht¥Tdr  1 Ht¥Tdr  2 

 
 (i) AOyhp qHE¤ h± qH J±de±²}¾`rRc qeM \§X qeMdV qgc³ Eg hr 

g`z ht¥Yp h± OY~ Ht¥Or (K) ²¥¾v \dJ qeM dJp chy ht¥Yy h²¾ AWy 
Eg g`z ²¾hs ht¥Yp OY~ gcHR qeM gXpBr Hc¥R (Zpcp) \oeph 
h}V dJYr h± ? 

K G 
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(ii) Eg g`z J±dey²}¾`rRc qeM Hr q²¾crIV HrWp Op£Yp h±, OY~ \§dJ 
W~ Ht¥Or ²¥¾v HqUAp Op£Yp h± ? 

(iii) qBg gcJc`r Yy q²¾crIVp£ Yy AZpc Wy q²¾HdV epdp q²¾fHcf 
(²¾WrOp) qdI} & 3 

Op£ 

(b) hyS¾ qYWy JBy qMWc qeM, gcd q^OdBr }̀Rc YcgpBr JBr h± :  

 
 

 
 

  qMWc qeM YcgpBy A²¾®gpc, Ht¥Tdr ABCD qeM q^Od Zpcp Yp \oeph 
_tOp AB qeM A W~ B Yy ed AWy _tOp CD qeM C W~ D Yy ed h± & 

(i) _tOp AB AWy _tOp CD E\c dJV epdy ^d YrAp£ qYfpep£ Yp 
ecV²¾ Hc} &  

(ii) q^Od }̀Rc Yy Eg _pJ ²¥¾v \NpV} AWy EgYp ²¾p` qdI} O} Ht¥Tdr 
ABCD qeM q^Od Zpcp Yy \oeph Yr qYfp \dR YzYr h± & 

(iii) Ht¥Tdr ABCD qeM q^Od Zpcp Yy \oeph Yr qYfp EdR h}V W~ 
^pY _tOp AB AWy _tOp CD Wy dJV epdy ^dp£ Yr qYfp qdI} & 

(iv) qHgy Mt¥^Hr IyWc qeM gqXW Hc¥Rephr MpdH Wy dJV epdy ^d 
Yr qYfp q²¾cZpqcW Hc²¾ epdy q²¾a` Yp ²¾p` qdI} & 3 

13. `zTd Yy \oa}Jp£ ²y¾ qBh qHez YcgpqBAp qH d§NV geW¥Wc cv\ qeM qecgy 
qeM \op\W ht¥Yy h²¾ ? qeApqIAp Hc} & 3 
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I¥T J 

2 14 15

3 (a), (b) (c) (a) (b) (c)

 ¾  

14. hyS¾ qYWy JBy q^Od gcHR Yp AqZA±²¾ Hc} qOg qeM \oqWc}ZH qW¥²¾ _tOpep£ 

A, B AWy C qeM qeegqXW h²¾ : 

  

(a) _tOp A Yp Wtd \oqWc}Z \Wp Hc} &  1 

(b) _tOp B AWy _tOp C Yy g`p£Wc (\pcfe) g¥a}O²¾ Yp Wtd \oqWc}Z \Wp 

Hc} &  1 

(c) (i) A±`rRc qeM \oeph ht¥Yr Zpcp q²¾cZpqcW Hc} & 2 

Op£ 

 (ii) OyHc qBg gcHR W~ _tOp B HU qYWp OpBy, Wp£ A±̀ rRc qeM 

\oeph ht¥Yr Zpcp q²¾cZpqcW Hc} & 2 
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15. Eh qeZp qOgYy cphs eI} eI Ore \oOV²¾ HcYy h²¾, E²¾ªp£ Yr gcrcH ^VWc 
(qTkpqB²¾) E\c q²¾c_c HcYr h± & Aqd¥J \oOV²¾ qeM, ByHd O²¾H Ap\Vr 
g¥Wp²¾ (E\O) \±Yp HcYy h²¾ AWy qBg qHqcAp qeM ercOAVv atJ` fp`d 
²¾hs ht¥Yy h²¾ & qBh qeZr A²¾®Hvd hpdWp£ qeM g¥Wp²¾ Yr g¥qIAp qeM Wykr 
²¾pd epZp Hc²¾ Yp qBH gpZpcV gpZ²¾ h± & Aqd¥Jr \oOV²¾ `tI W}c Wy 
qBHH}fr Orep£, HtP \¡qZAp£ AWy HtP gcd ^htH}fr O¥WvAp£ qeM ht¥Yp h± & 

(a) Eg Ore Yp ²¾p` qdI} qOg qeM Y} I¥TV qBH q²¾cZpqcW Wd qeM 

ht¥Yp h± & qBg Ore Yy HpcV h}V epdy c}J Yp ²¾p` er qdI} & 1 

(b) HpqBH \oOV²¾ cphs \}Zy \±Yp Hc²¾ Yy qHgy Y} dp_p£ Yr gvMr ^VpG & 1 

(c) (i) hpqBTop qeM `tHtd²¾ (^qT¥J) Yr \oqHqcAp Yr qeApqIAp Hc} & 2 

 Op£ 

  (ii) Hr ht¥Yp h± OY~  

 (I) g\pqBc}JpqBcp q³dp`zR qeHqgW h} Hy Hp³r d¥̂ p h} Op£Yp  

h±, AWy  

 (II) H}Br ^rOpVvZp²¾r cpqBO}\g qeM qeHqgW h} Hy ³R Op£Yr 

h± ? 2 


